MATH 64
Test #1-Sample
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Use Algebraic Notation AND Show All of Your Work

Find all numbers for which each rational expression is undefined. If the rational expression is defined for all real

numbers, so state.
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Simplify eachi Tational expression.
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DPerform the indicated operations. Simplify your answer if possible.
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Solve each equation. State the solution set.
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17. A person who is 6 feet tall is standing 10 feet from the base of a lamppost. The person’s shadow
has a length of 4 feet How tall is the lamppost? ( Deﬁne a varigble, create an equation, solve using
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18. Instill water, a boat averages 20 miles per hour. It takes the boat the same amount of tiné to &

travel 72 miles downstream, with the current, as 48 miles upstream, against the current. What is
the rate of the river’s current? (Sef-up an organizational chart structure, define a Uamlble create an
equation, solve usmg algebnz and answer in a sextence.) |_ o+ X= rals oF e river s cofrest
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19. A painter can paint a fence around a house in 6 hours. Working alone, the painter’s apprentice
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can paint the same fence in 12 hours. How many hours would it take them to do the same job if
they worked together? (Set-up an organizational chart structure, define a variable, create an equation,
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many trout are in the lake? (Define a variable, create an eq
sentenice.)  |_et x= povaibes ot TrekT A the Laky

To determine the number of troutin a lake, a conservatiohjst catches 112 trout, tags them, and
returns them to the lake. Later, 82 trout are caught and 32 of them are found to be tagged. How

uation, solve using algebra, and answer in a
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